Inda,Pmdrmcg
(This question is move —for ‘wn )

I. Bivoviate vandom vaviadle :
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X ond Y are indepondmt & P =0
and whe abwe 376?)\ ’s ohe Standavd cose .
Go : 7[ (X,j): ‘,_'e-—g(x’ﬂl)
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Thon if Xyt Ts some ]cxr("’d’ 'S same




Inda.pandcngc;: fx (@1, 22) = fx,(21) - [x,(22)

Irs ke you +flatton the s‘hafe of fx,(xz) on hdj)n bj
fx‘ (*,) akmj the X ooris, and vise yorsa

So if any JW0 cures T OuT bj Two |ines paralla| o X, oy
X5 oxis are MT ?7%9200' ShOfQS of one awther, X, amd X,
will be d dont. Ywm can take ﬁw.axamfﬁc used N4
2.3 " viswalizarin” 0s o simple axompk

Move oletaileo expanarion = i X% oxe ,‘,,O[QWM,T

)
the with any fixed x, , and any yondomly ohosan i1, %,
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Systom .
- Yas Yoy MnCIcWSTOWIO‘I«\j s yigh‘r.
The point IS you define X)X, Y os the Tailure Time
insteocl of yeliodiliny function divectl .
2. Yas, you con use This method o solue owhey distviburions.
Bt on«o,ﬂlinj Yyou wil find 5 Y= minfX, %] has
the some npe distvburion as X, % s a waalcasa

+or QXF distviburon . Not odl di smiburions somm‘j
his conoliion -



